

power series :-

$$\sum_{n=0}^{\infty} a_n (x-c)^n = a_0 + a_1(x-c) + a_2(x-c)^2 + \dots$$

↳ is called a power series in x about c

* Interval of Convergence "I.C"

* Radius of Convergence "R.C"

$$r = \frac{b-a}{2}$$

To solve a power series $\xrightarrow{\text{use}}$ Ratio test or Root test

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right|$$

$$\lim_{n \rightarrow \infty} \left| (a_n)^{\frac{1}{n}} \right|$$

$> 1 \rightarrow \text{div}$
 $< 1 \rightarrow \text{Conv}$

Ex:- Find the interval of convergence and the radius of convergence of the series ?

$$\boxed{1} \sum_{n=0}^{\infty} \frac{4^n}{n!} (x-1)^n$$

use Ratio test

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left| \frac{4^{n+1}}{(n+1)!} \cdot (x-1)^{n+1} \cdot \frac{n!}{4^n \cdot (x-1)^n} \right|$$

$$\Rightarrow \lim_{n \rightarrow \infty} \left| \frac{4^n \cdot 4 \cdot (x-1)^n \cdot (x-1)}{(n+1) n!} \cdot \frac{n!}{4^n \cdot (x-1)^n} \right|$$

$$\Rightarrow \lim_{n \rightarrow \infty} \left| \frac{4(x-1)}{n+1} \right| = |x-1| \lim_{n \rightarrow \infty} \frac{4}{n+1}$$

$$|x-1| \cdot \underbrace{0}_{< 1} < 1$$

$$I. C \Rightarrow (-\infty, \infty)$$

$$R. C \Rightarrow r = \infty$$

$$\boxed{2} \sum_{n=1}^{\infty} \frac{n}{3^{n+1}} \cdot (x)^n$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left| \frac{n+1}{3^{n+2}} \cdot (x)^{n+1} \times \frac{3^{n+1}}{n \cdot (x)^n} \right|$$

$$\lim_{n \rightarrow \infty} \left| \frac{n+1}{\cancel{3^n} \cdot 3^2} \cdot \frac{(x)^{n+1} \cdot (x)}{n \cdot \cancel{(x)^n}} \times \frac{\cancel{3^n} \cdot 3}{\cancel{3^n} \cdot 3} \right|$$

$$\left| \frac{x}{3} \right| \lim_{n \rightarrow \infty} \frac{n+1}{n} \Rightarrow \frac{|x|}{3} < 1 \Rightarrow |x| < 3$$

$\boxed{1}$

 $-3 < x < 3$

$$\text{If } x=3 \Rightarrow \sum_{n=1}^{\infty} \frac{n}{3^{n+1}} \cdot (3)^n = \sum_{n=1}^{\infty} \frac{n}{\cancel{3^n} \cdot 3} \cdot \cancel{3^n}$$

$$\sum_{n=1}^{\infty} \frac{n}{3} \rightarrow \lim_{n \rightarrow \infty} \frac{n}{3} = \infty \neq 0 \text{ div by D.T}$$

$$\text{If } x=-3 \Rightarrow \sum_{n=1}^{\infty} \frac{n}{3^{n+1}} \cdot (-3)^n = \sum_{n=1}^{\infty} \frac{n \cdot (-1)^n \cdot \cancel{3^n}}{\cancel{3^n} \cdot 3}$$

$$\sum_{n=1}^{\infty} \frac{(-1)^n \cdot n}{3} \rightarrow \lim_{n \rightarrow \infty} |a_n| = \lim_{n \rightarrow \infty} \frac{n}{3} = \infty \neq 0 \text{ div by D.T}$$

$$\underline{\underline{\text{So}}} \text{ I.C } \Rightarrow (-3, 3) \quad \text{R.C } \Rightarrow r = \frac{3 - (-3)}{2} = \frac{6}{2} = \boxed{3}$$

$$\boxed{3} \sum_{n=1}^{\infty} \frac{(x)^n}{n \cdot 5^n}$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left| \frac{(x)^{n+1}}{(n+1) 5^{n+1}} * \frac{n 5^n}{(x)^n} \right|$$

$$\lim_{n \rightarrow \infty} \left| \frac{(x)^n \cdot (x)}{(n+1) 5^n \cdot 5} * \frac{n \cdot 5^n}{(x)^n} \right|$$

$$\frac{|x|}{5} \lim_{n \rightarrow \infty} \frac{n}{n+1} = \frac{|x|}{5} < 1 \rightarrow |x| < 5$$

$\boxed{1}$

$$-5 < x < 5$$

if $x=5 \rightarrow \sum_{n=1}^{\infty} \frac{(5)^n}{n (5)^n} = \sum_{n=1}^{\infty} \frac{1}{n}$ $p=1 \rightarrow$ div by $p-T$

if $x=-5 \rightarrow \sum_{n=1}^{\infty} \frac{(-5)^n}{n 5^n} = \sum_{n=1}^{\infty} \frac{(-1)^n (5)^n}{n 5^n} = \sum_{n=1}^{\infty} \frac{(-1)^n}{n}$
A.S.T

$$\lim_{n \rightarrow \infty} |a_n| = \lim_{n \rightarrow \infty} \frac{1}{n} = \frac{1}{\infty} = \boxed{0} \checkmark$$

a_n is decreasing $a_1 > a_2$ $1 > \frac{1}{2} \checkmark$

\Rightarrow Conv by A.S.T

$\hookrightarrow -5 < x < 5$

I.C $\Rightarrow [-5, 5)$ R.C $\Rightarrow r=5$

$$\boxed{4} \sum_{n=0}^{\infty} n! (x-3)^n$$

$$\lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = \lim_{n \rightarrow \infty} \left| (n+1)! (x-3)^{n+1} \cdot \frac{1}{n! (x-3)^n} \right|$$

$$\lim_{n \rightarrow \infty} \left| \frac{(n+1) \cancel{n!} (x-3)^{\cancel{n}} (x-3)}{\cancel{n!} (x-3)^{\cancel{n}}} \right|$$

$$= \lim_{n \rightarrow \infty} \left| (n+1) (x-3) \right| = |x-3| \lim_{n \rightarrow \infty} (n+1)$$

$$|x-3| \neq \infty < 1$$

$$\boxed{|x-3|}$$

$$\text{I.C} \Rightarrow \{3\}$$

$$\text{R.C} \Rightarrow \text{Zero} \Rightarrow \boxed{y=0}$$

$$\boxed{5} \sum_{n=1}^{\infty} \frac{(x-5)^n}{n^2}$$

H.W

$$\text{I.C} \Rightarrow$$

$$\text{R.C} \Rightarrow$$

$$\boxed{6} \sum_{n=1}^{\infty} \frac{(-1)^n (x+2)^n}{n^2 3^n}$$

$$\lim_{n \rightarrow \infty} \left| \frac{(-1)^{n+1} (x+2)^{n+1}}{(n+1)^2 3^{n+1}} \cdot \frac{n^2 \cdot 3^n}{(-1)^n (x+2)^n} \right|$$

$$\lim_{n \rightarrow \infty} \left| \frac{\cancel{(-1)^n} \cdot (-1) \cdot \cancel{(x+2)^n} \cdot (x+2)}{(n+1)^2 \cdot \cancel{3^n} \cdot 3} \cdot \frac{n^2 \cdot \cancel{3^n}}{\cancel{(-1)^n} \cdot \cancel{(x+2)^n}} \right|$$

$$\lim_{n \rightarrow \infty} \left| \frac{(-1)(x+2) \cdot n^2}{3(n+1)^2} \right| = \frac{|x+2|}{3} \lim_{n \rightarrow \infty} \frac{n^2}{(n+1)^2}$$

$\downarrow \frac{\infty}{\infty} \therefore \underline{\underline{CR}}$

$$= \frac{|x+2|}{3} < 1 \rightarrow |x+2| < 3$$

$$-3 < x+2 < 3$$

$$-5 < x < 1$$

$$\text{if } x=1 \Rightarrow \sum_{n=1}^{\infty} \frac{(-1)^n (3)^n}{n^2 \cdot 3^n} = \sum_{n=1}^{\infty} \frac{(-1)^n}{n^2} \xrightarrow{\text{A.S.T}} \underline{\underline{\text{Conv}}}$$

$$\text{if } x=-5 \Rightarrow \sum_{n=1}^{\infty} \frac{(-1)^n (-3)^n}{n^2 \cdot 3^n} = \sum_{n=1}^{\infty} \frac{(-1)^n \cdot (-1)^n}{n^2} = \sum_{n=1}^{\infty} \frac{(-1)^{2n}}{n^2}$$

$$= \sum_{n=1}^{\infty} \frac{1}{n^2} \rightarrow p=2 > 1 \quad \underline{\underline{\text{Conv}}} \text{ by } p\text{-T}$$

$$\text{I.C} \Rightarrow [-5, 1] \quad \text{R.C} \Rightarrow r = \frac{1 - (-5)}{2} = \boxed{3} \checkmark$$

Representation of functions

as power series

$$\sum_{n=0}^{\infty} (r)^n = \frac{1}{1-r} \quad |r| < 1$$

$$\Rightarrow \sum_{n=0}^{\infty} (x)^n = \frac{1}{1-x} \quad \text{I.C.} \Rightarrow |x| < 1$$

$$\Rightarrow \frac{1}{1-(x)} = \sum_{n=0}^{\infty} (x)^n$$

Ex : Express the given Functions as
a power series

$$\square \text{ f}(x) = \frac{1}{1+x}$$

$$\hookrightarrow \frac{1}{1-x} = \sum_{n=0}^{\infty} (x)^n$$

$$\frac{1}{1+x} = \frac{1}{1-(-x)} = \sum_{n=0}^{\infty} (-x)^n$$

$$= \sum_{n=0}^{\infty} (-1)^n (x)^n$$

$$\text{I. c} \Rightarrow |x| < 1 \Rightarrow -1 < x < 1$$

$$\Rightarrow (-1, 1) \checkmark$$

$$\boxed{2} \quad f(x) = \frac{1}{1+x^2}$$

$$\frac{1}{1+x^2} = \frac{1}{1-(-x^2)} = \sum_{n=0}^{\infty} (-x^2)^n$$

$$\sum_{n=0}^{\infty} (-1)^n (x)^{2n} \quad \checkmark$$

$$\boxed{3} \quad f(x) = \frac{2x}{1-x^3}$$

$$2x \cdot \frac{1}{1-x^3} = 2x \cdot \sum_{n=0}^{\infty} (x^3)^n$$

$$= \sum_{n=0}^{\infty} 2x^1 \cdot x^{3n}$$

$$= \sum_{n=0}^{\infty} 2 (x)^{3n+1} \quad \checkmark$$

$$\boxed{4} \quad f(x) = \frac{X^3}{2+X} \quad \underline{\underline{P_0}}$$

$$\frac{X^3}{2+X} = X^3 \cdot \frac{1}{2 \left(1 + \frac{X}{2}\right)} = \frac{X^3}{2} \cdot \frac{1}{\left(1 - \left(-\frac{X}{2}\right)\right)}$$

$$\frac{X^3}{2} * \sum_{n=0}^{\infty} \left(-\frac{X}{2}\right)^n$$

$$\sum_{n=0}^{\infty} \frac{X^3}{2} * \frac{(-1)^n \cdot (X)^n}{(2)^n}$$

$$\sum_{n=0}^{\infty} \frac{(-1)^n (X)^{n+3}}{2^{n+1}}$$

* Differentiation and integration
of power series

$$\frac{d}{dx} \left[\sum_{n=0}^{\infty} a_n (x-c)^n \right] = \sum_{n=1}^{\infty} a_n \cdot n (x-c)^{n-1}$$

$$\int \left[\sum_{n=0}^{\infty} a_n (x-c)^n \right] dx = \sum_{n=0}^{\infty} \frac{a_n (x-c)^{n+1}}{n+1} + C$$

Ex:- Express the following functions as a power series?

$$\text{I) } f(x) = \tan^{-1}(x)$$

$$\frac{1}{1+x^2} = \frac{1}{1-(-x^2)} = \sum_{n=0}^{\infty} (-x^2)^n$$
$$= \sum_{n=0}^{\infty} (-1)^n (x)^{2n}$$

$$\int \frac{1}{1+x^2} dx = \int \sum_{n=0}^{\infty} (-1)^n (x)^{2n} dx$$

$$\tan^{-1}(x) = \sum_{n=0}^{\infty} \frac{(-1)^n (x)^{2n+1}}{2n+1} + C$$

لأنه لتعيينه حساب ثابت التكامل (C) نعوض $x=0$

$$\tan^{-1}(0) = 0 + C$$

$$\boxed{0 = C}$$

$$\tan^{-1}(x) = \sum_{n=0}^{\infty} \frac{(-1)^n (x)^{2n+1}}{2n+1} \quad \checkmark$$

$$\boxed{2} \quad f(x) = \frac{1}{(1+x)^2} \quad \frac{1}{(1+x)^2} \rightarrow \text{مشتقة القبة}$$

$$\frac{1}{1+x} \xrightarrow{\frac{d}{dx}} \frac{-1(1)}{(1+x)^2} = \frac{-1}{(1+x)^2} \quad \hat{u}$$

$$\frac{-1}{1+x} \xrightarrow{\frac{d}{dx}} \frac{(+1)(1)}{(1+x)^2} = \frac{1}{(1+x)^2} \quad \hat{u}$$

$$\frac{-1}{1-(-x)} = \sum_{n=0}^{\infty} (-1)^n (-x)^n$$

$$\frac{d}{dx} \left[\frac{-1}{1+x} = \sum_{n=0}^{\infty} (-1)^{n+1} (x)^n \right]$$

$$\frac{1}{(1+x)^2} = \sum_{n=1}^{\infty} (-1)^{n+1} * n (x)^{n-1} \quad \checkmark$$

$$\boxed{3} \quad f(x) = \ln(1-2x)$$

$$\frac{-2}{1-2x} = -2 \cdot \frac{1}{1-2x} = \sum_{n=0}^{\infty} (-2) \cdot (2x)^n$$

$$= \sum_{n=0}^{\infty} (-1)^n (2) \cdot (2)^n (x)^n$$

$$\int \frac{-2}{1-2x} dx = \int \sum_{n=0}^{\infty} (-1)^n (2)^{n+1} (x)^n dx$$

$$\ln|1-2x| = \sum_{n=0}^{\infty} \frac{(-1)^n (2)^{n+1} (x)^{n+1}}{n+1} + C$$

at $x=0$

$$\hookrightarrow \ln(1-0) = 0 + C$$

$$\ln(1) = C \quad \rightarrow \boxed{C=0}$$

$$\ln(1-2x) = \sum_{n=0}^{\infty} \frac{(-1)^n \cdot (2)^{n+1} (x)^{n+1}}{n+1}$$

$$\boxed{4} \quad f(x) = \int \frac{1}{1+x^5} dx \quad \text{as a power series?}$$

$$\frac{1}{1+x^5} = \frac{1}{1-(-x^5)} = \sum_{n=0}^{\infty} (-x^5)^n$$

$$\frac{1}{1+x^5} = \sum_{n=0}^{\infty} (-1)^n (x)^{5n}$$

$$\int \frac{1}{1+x^5} dx = \int \sum_{n=0}^{\infty} (-1)^n (x)^{5n} dx$$

$$\int \frac{1}{1+x^5} dx = \sum_{n=0}^{\infty} \frac{(-1)^n (x)^{5n+1}}{5n+1} + C$$

at $x=0$

$$\hookrightarrow \int 1 dx = 0 + C$$

$$x = 0 + C \rightarrow C = 0$$

$$\int \frac{1}{1+x^5} dx = \sum_{n=0}^{\infty} \frac{(-1)^n (x)^{5n+1}}{5n+1}$$